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1. fuEufyf[kr eas ls dkSu&lh ykbu uj cU/;rk 

dks lajf{kr djrh gS \ 

 
1. Which of the following lines maintains 

male sterility ? 

(A) ‘A’ ykbu  (A) ‘A’ line 

(B) ‘B’ ykbu  (B)  ‘B’ line 

(C) ‘R’ ykbu  (C)  ‘R’ line 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

2. fuEufyf[kr esa ls dkSu&lh vkblkstsfud ykbu 

gSa \ 

 
2. Which of the following are isogenic  

lines ? 

(A) A ,oa R ykbu  (A) A and R line 

(B) B ,oa R ykbu  (B)  B and R line 

(C) A ,oa B ykbu  (C)  A and B line 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. A × R ds ladj.k ls tks cht izkIr gksrk gS] 

dgykrk gS % 

 
3. Seed obtained after crossing A × R lines, 

is known as : 

(A) izekf.kr cht  (A) Certified seed 

(B) vk/kkj cht  (B)  Foundation seed 

(C) iztud cht  (C)  Breeder seed 

(D) ukfHkdh; cht  (D)  Nucleus seed 
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4. eDdk ds f}ladj dks fodflr djus esa fdruh 

vUr%iztkr ykbuksa dk mi;ksx fd;k tkrk gS \ 

 
4. How many inbreds lines are involved in 

producing double cross hybrid in maize ?  

(A) 2  (A) 2 

(B)  3  (B)  3 

(C)  6  (C)  6 

(D)  4  (D)  4 

5. Tokj ds ladj cht dk mRiknu djus ds fy, 

fdl izdkj dh uj cU/;rk dk mi;ksx fd;k 

tkrk gS \ 

 
5. Which type of male sterility is used for 

hybrid seed production in Jowar ? 

(A) vkuqoaf’kd uj cU/;rk  (A) Genetic male sterility 

(B) dksf’kdknzO;h vkuqoaf’kd uj cU/;rk  (B)  Cytoplasmic genetic male sterility 

(C) dksf’kdknzO;h uj cU/;rk  (C)  Cytoplasmic male sterility 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. uj cU/; ikS/kksa dks fdlds lkFk ladj.k djds 

LFkk;h :i ls moZj cuk;k tkrk gS \ 

 
6. Male sterile plants make permanently 

fertile by crossing with : 

(A) ‘R’ ykbu  (A) ‘R’ line 

(B) ‘B’ ykbu  (B)  ‘B’ line 

(C) nksuksa (R) vkSj (B)    (C)  Both (R) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

7. fdlh ladj dh U;wure vkuqoaf’kd ‘kq)rk gksrh 

gS % 

 
7. Minimum genetic purity percent of 

hybrid is : 

(A) 100%  (A) 100% 

(B)  99%  (B)  99% 

(C)  98%  (C)  98% 

(D)  95%  (D)  95% 
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8. 2] 3] 5&VªkbQsfuy VsVªktksfy;e DyksjkbM dk 

jax gksrk gS % 

 
8. Colour of 2, 3, 5-triphenyl tetrozolium 

chloride is :  

(A) yky  (A) Red 

(B) xqykch  (B)  Pink 

(C) uhyk  (C)  Blue 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

9. ODV dk rkRi;Z gS % 
 

9. ODV stands for : 

(A) Other distinguishing varieties  (A) Other distinguishing varieties 

(B)  Other developed varieties  (B)  Other developed varieties 

(C)  Oven dried varieties  (C)  Oven dried varieties 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

10. og ikS/ks tks cht mRiknu djus okyh iztkfr;ksa 

ds y{k.kksa ls fHkUu gksrs gSa] dgykrs gSa % 

 
10. Plants differing in their characteristics 

from those of the seed variety are called : 

(A) ikWysu ‘ksMj  (A) Pollen Shedder 

(B) jksX;w  (B)  Off type 

(C) ‘ksfMax VSly  (C)  Shedding tassel 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. lhM iSjsaV ,oa ikWysu iSjsaV esa ,d lkFk iq”iu 

gksus dh izfØ;k dgykrh gS % 

 
11. The synchrony in flowering of seed 

parent and pollen parent is termed as : 

(A) fufiax  (A) Nipping 

(B) fufdax  (B)  Nicking 

(C) izkbfeax  (C)  Priming 

(D) D;wfjax  (D)  Curing 
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12. fuEufyf[kr esa ls fdldks lhM iSjsUV Hkh dgk 

tkrk gS \ 

 
12. Which of the following is also known as 

seed parent ? 

(A) ‘B’ ykbu  (A) ‘B’ line 

(B) ‘R’ ykbu  (B)  ‘R’ line 

(C) ‘A’ ykbu  (C)  ‘A’ line 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

13. lkekU;r;k cht mRiknu djus ds fy, cht 

nj O;kolkf;d Qly mRiknu djus dh nj 

ls 
--------------------------

 gksrh gSA 

 
13. Generally rate is kept .............. for seed 

production than commercial crop 

production. 

(A) de  (A) less 

(B) vf/kd  (B)  more 

(C) leku  (C)  same 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. /kku esa ladj cht mRiknu djus ds fy, eknk 

,oa uj ikS/kksa dk vuqikr gksrk gS % 

 
14. For hybrid seed production in rice, female 

and male plant ratio is : 

(A) 4 : 2  (A) 4 : 2 

(B)  8 : 2  (B)  8 : 2 

(C)  2 : 2  (C)  2 : 2 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

15. /kku esa jksfxax djuh pkfg, % 
 

15. Roguing in rice should be done : 

(A) iq”iu ls igys  (A) prior to flowering 

(B) iq”iu voLFkk esa  (B)  at flowering 

(C) ifjiDork voLFkk esa  (C)  at maturity 

(D) mi;qZDr lHkh  (D)  All of the above 
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16. xsgw¡ dh ‘kq) oa’kØe iztkfr dk cht mRiknu 

djus ds fy, vyxko nwjh j[kuh pkfg, % 

 
16. Isolation distance for seed production of 

pure line variety of wheat should be : 

(A) 3 ehVj  (A) 3 metres 

(B) 180 ehVj  (B)  180 metres 

(C) 200 ehVj  (C)  200 metres 

(D) 10 ehVj  (D)  10 metres 

17. Tokj dh eqDr ijkfxr iztkfr ds vk/kkj cht 

ds mRiknu ds fy, vyxko nwjh j[kuh  

pkfg, % 

 
17. For the production of foundation class 

seed of an open pollinated variety of 

Jowar, isolation distance should be :  

(A) 100 ehVj  (A) 100 metres 

(B) 200 ehVj  (B)  200 metres 

(C) 500 ehVj  (C)  500 metres 

(D) 1000 ehVj  (D)  1000 metres 

18. elwj ds cht mRiknu ds fy, cht nj gksrh 

gS % 

 
18. Seed rate of lentil for seed production is : 

(A) 40&50 fdxzk-  (A) 40-50 kg 

(B) 50&60 fdxzk-  (B)  50-60 kg 

(C) 20&25 fdxzk-  (C)  20-25 kg 

(D) 30&35 fdxzk-  (D)  30-35 kg 
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19. cktjk ds ladj cht mRiknu djus  

ds fy,  A × R ykbu dk vuqikr j[kk tkrk 

gS % 

 
19. Planting ratio of A × R for hybrid seed 

production of pearl millet is : 

(A) 6 : 1  (A) 6 : 1 

(B)  8 : 2  (B)  8 : 2 

(C)  4 : 2  (C)  4 : 2 

(D)  4 : 1  (D)  4 : 1 

20. dVsyh fdl Qly dk vkifŸktud [kjirokj 

gS \ 

 
20. Argemone mexicana is an objectionable 

weed of : 

(A) xsgw¡  (A) Wheat 

(B) /kku  (B)  Rice 

(C) cjlhe  (C)  Berseem 

(D) ljlksa  (D)  Mustard 

21. cht izek.khdj.k dk dk;Z fd;k tkrk  

gS % 

 
21. Seed certification is carried by : 

(A) cht izek.khdj.k laLFkk }kjk  (A) Seed Certification Agency 

(B) jk”Vªh; cht lfefr }kjk  (B)  National Seed Committee 

(C) cht ijh{k.k iz;ksx’kkyk }kjk  (C)  Seed Testing Laboratory 

(D) dsUnzh; cht izek.khdj.k cksMZ }kjk  (D)  Central Seed Certification Board 
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22. cht izek.khdj.k dk eq[; mís’; gS % 
 

22. Main objective of seed certification  

is :  

(A) cht dk forj.k djuk  (A) to do distribution of seed 

(B) cht dh mPp xq.koŸkk dk fu;a=.k 

djuk 

 (B)  to control high quality of seed 

(C) cht mRikndksa dks izf’kf{kr djuk  (C)  to train seed growers 

(D) cht dk ;krk;kr djuk  (D)  to transport seed 

23. cht dkuwu izHkkoh gqvk Fkk % 
 

23. Seed Act became effective from : 

(A) fnlEcj 1966 ls  (A) December 1966 

(B) tqykbZ 1978 ls  (B)  July 1978 

(C) vDVwcj 1969 ls  (C)  October 1969 

(D) ekpZ 1975 ls  (D)  March 1975 

24. ,p- ch&1 ladj gS % 
 

24. HB-1 is the hybrid of : 

(A) Tokj dk  (A) Jowar 

(B) eVj dk  (B)  Pea 

(C) cktjk dk  (C)  Bajra 

(D) eDdk dk  (D)  Maize 
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25. fuEufyf[kr esa ls dkSu&lk vfØ; inkFkZ ekuk 

tkrk gS \ 

 
25. Which of the following is considered as 

inert matter ? 

(A) ewy vkdkj ds cht ds VqdM+s tks vk/ks 

;k vk/ks ls de gksa 

 (A) Pieces of seed units which is half or 

less than half of the original size 

(B) ysX;wfeukslh dqy ds chtkoj.k jfgr 

cht 

 (B)  Seeds of Leguminosae without seed 

coat 

(C) /kwy ,oa dadM+  (C)  Soil and stones 

(D) mi;qZDr lHkh  (D)  All of the above 

26. izekf.kr cht larfr gS % 
 

26. Certified seed is the progeny of : 

(A) vk/kkj cht dh  (A) Foundation seed 

(B) ukfHkdh; cht dh  (B)  Nucleus seed 

(C) iztud cht dh  (C)  Breeder seed 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

27. jk”Vªh; cht fuxe dh LFkkiuk gqbZ Fkh % 
 

27. National Seed Corporation was 

established in the year : 

(A) 1963 esa  (A) 1963 

(B)  1988 esa  (B)  1988 

(C)  1951 esa  (C)  1951 

(D)  1978 esa  (D)  1978 
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28. fuEufyf[kr esa ls fdlesa ladj cht mRiknu 

djus ds fy, nks ykbu fof/k dk mi;ksx fd;k 

tkrk gS \ 

 
28. In which of the following, two line  

system of hybrid seed production is 

followed ? 

(A) xsgw¡  (A) Wheat 

(B) eDdk  (B)  Maize 

(C) /kku  (C)  Rice 

(D) Tokj  (D)  Jowar 

29. xsgw¡ dk cht mRiknu djus ds fy, laLrqr 

cht nj gS % 

 
29. The recommended seed rate for seed 

production of Wheat : 

(A) 100&120 fdxzk-@gs-  (A) 100-120 kg/ha. 

(B) 85&100 fdxzk-@gs-  (B)  85-100 kg/ha. 

(C) 120&140 fdxzk-@gs-  (C)  120-140 kg/ha. 

(D) 140&150 fdxzk-@gs-  (D)  140-150 kg/ha. 

30. fuEufyf[kr esa ls fdl oxZ ds cht dks Hkkjr 

esa ugha mxk;k tkrk gS \ 

 
30. Which class of seed is not grown in  

India ? 

(A) iztud cht   (A) Breeder seed 

(B) vk/kkj cht   (B)  Foundation seed 

(C) iathd`r cht   (C)  Registered seed 

(D) izekf.kr cht   (D)  Certified seed 
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31. ouLifr foKku dh n`f”V ls cht gS % 
 

31. Botanically seed is : 

(A) ifjiDo v.Mk’k;  (A) ripened ovary 

(B) ifjiDo chtk.M  (B)  ripened ovule 

(C) Hkzw.kdks”k  (C)  embryo sac 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. fuEufyf[kr esa ls dkSu&ls cht ds Hkkx gSa \ 
 

32. Which of the following are the parts of a 

seed ? 

(A) chtkoj.k  (A) Testa 

(B) vkUrfjd f>Yyh  (B)  Tegmen 

(C) chti=  (C)  Cotyledons 

(D) mi;qZDr lHkh  (D)  All of the above 

33. fuEufyf[kr esa ls dkSu&lk f}chti=h Hkzw.kiks”kh 

cht gS \ 

 
33. Which of the following is dicotyledonous 

endospermic seed ?  

(A) eVj  (A) Pea 

(B) xsgw¡  (B)  Wheat 

(C) I;kt  (C)  Onion 

(D) vj.M  (D)  Castor 

34. ,di=h chtksa esa chti= ds lerqY; lajpuk  

gS % 

 
34. Analogous structure of cotyledon in 

monocotyledonous seed is : 

(A) LdwVsye  (A) Scutellum 

(B) ,Y;wjkWu ijr  (B)  Aleuron layer 

(C) izkadqj&pksy  (C)  Coleoptile 

(D) chti=ksifjd  (D)  Epicotyle 
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35. fuEufyf[kr esa iztkfr ds kl dk vkuqoaf’kd 

dkj.k gS % 

 
35. Genetic cause of deterioration of a variety 

is : 

(A) ;kfU=d feJ.k  (A) Mechanical mixture 

(B) ikni iztud dh rduhd  (B)  Technique of plant breeder 

(C) d`f=e ladj.k  (C)  Natural crossing 

(D) uk’khtho ,oa chekfj;ksa dk izHkko  (D)  Influence of pest and diseases 

36. d`f=e ladj.k vkuqoaf’kd lanw”kd ,oa iztkrh; 

kl dk ,d eq[; lzksr gS % 

 
36. Natural crossing is the major source of 

genetic contamination and varietal 

deterioration in : 

(A) Loijkfxr Qlyksa esa  (A) Self-pollinated crops 

(B) ijijkfxr Qlyksa esa  (B)  Cross-pollinated crops 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. cht mRiknu ds nkSjku vyxko nwjh ls ge  

------------------- 
lajf{kr j[krs gSaA 

 
37. By isolation distance we maintain ......... 

during seed production. 

(A) HkkSfrd ‘kq)rk  (A) Physical purity 

(B) cht dh thou {kerk  (B)  Seed viability 

(C) vkuqoaf’kd ‘kq)rk  (C)  Genetic purity 

(D) cht LokLF;  (D)  Seed health 



 

AG–4003 ( 14 )  Set-C 

38. fdlh iztkfr dh vkuqoaf’kd ‘kq)rk dh tk¡p 

djus ds fy, [ksr Lrj ij dkSu&lk ijh{k.k 

fd;k tkrk gS \ 

 
38. Which of the following tests is performed 

to check the genetic purity of variety at 

field level ? 

(A) TZ-ijh{k.k  (A) TZ-test 

(B) vkst ijh{k.k  (B)  Vigour test 

(C) HkkSfrd ‘kq)rk ijh{k.k  (C)  Physical purity test 

(D) xzks vkmV ijh{k.k  (D)  Grow out test 

39. fuEufyf[kr esa ls dkSu&lk xq.krkiw.kZ cht gS \ 
 

39. Which of the following is known as 

quality seed ? 

(A) iztud cht  (A) Breeder seed 

(B) vk/kkj cht  (B)  Foundation seed 

(C) izekf.kr cht  (C)  Certified seed 

(D) mi;qZDr lHkh  (D)  All of the above 

40. fuEufyf[kr esa ls fdlds cht mRiknu dk 

fujh{k.k ,d ekWuhVfjax Vhe ds }kjk fd;k 

tkrk gS \ 

 
40. Seed production of which of the 

following class is inspected by 

monitoring team ? 

(A) iztud cht  (A) Breeder seed 

(B) vk/kkj cht  (B)  Foundation seed 

(C) izekf.kr cht  (C)  Certified seed 

(D) ukfHkdh; cht  (D)  Nucleus seed 

41. fuEufyf[kr esa fdldh vkuqoaf’kd ‘kq)rk dh 

xkj.Vh ugha gksrh gS \ 

 
41. Genetic purity of the following is not 

guaranteed : 

(A) iztud cht dh  (A) Breeder seed 

(B) VªqFkQqyh yscYM lhM dh  (B)  Truthfully labelled seed 

(C) vk/kkj cht dh  (C)  Foundation seed 

(D) izekf.kr cht dh  (D)  Certified seed 
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42. eDdk dh Qly ds ,d cht <sj dk vkdkj 

gksrk gS % 

 
42. The size of seed lot of maize crop is : 

(A) 10000 fdxzk-  (A) 10000 kg 

(B) 20000 fdxzk-  (B)  20000 kg 

(C) 40000 fdxzk-  (C)  40000 kg 

(D) 5000 fdxzk-  (D)  5000 kg 

43. lHkh xq.krkiw.kZ ijh{k.k fd, tkrs gSa % 
 

43. All quality tests are performed on : 

(A) izkFkfed uewuk ij  (A) Primary sample 

(B) fefJr uewuk ij  (B)  Composite sample 

(C) vkWQhfl;y uewuk ij  (C)  Official sample 

(D) dk;Zdkjh uewuk ij  (D)  Working sample 

44. og VwVs gq, cht ftudk vkdkj vk/ks ls vf/kd 

gksrk gS] ekuk tkrk gS % 

 
44. Broken seed which is larger than half in 

size is considered as : 

(A) vfØ; inkFkZ ds :i esa  (A) Inert matter 

(B) ‘kq) cht ds :i esa  (B)  Pure seed 

(C) vU; cht ds :i esa  (C)  Other seed 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. fuEufyf[kr esa vfM+;y cht dk mnkgj.k gS % 
 

45. Example of orthodox seed is : 

(A) ukfj;y  (A) Coconut 

(B) dkWQh  (B)  Coffee 

(C) xsgw¡  (C)  Wheat 

(D) dksdksvk  (D)  Cocoa 
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46. fuEufyf[kr esa ls fdl ijh{k.k ds ifj.kke 

thfor Ård ds vfHkjatu iSVuZ ij fuHkZj gksrs 

gSa \ 

 
46. The results of the colouring pattern of 

living tissue depends on which of the 

following tests ? 

(A) ‘kq)rk ijh{k.k  (A) Purity test 

(B) vkst ijh{k.k  (B)  Vigour test 

(C) ueh ijh{k.k  (C)  Moisture test 

(D) thou {kerk ijh{k.k  (D)  Viability test   

47. fdlh mUur’khy iztkfr ds vkjfEHkd eqëhHkj 

cht dks dgk tkrk gS % 

 
47. The initial handful seeds of an improved 

variety is known as : 

(A) ukfHkdh; cht  (A) Nucleus seeds 

(B) iztud cht  (B)  Breeder seeds 

(C) vk/kkj cht  (C)  Foundation seeds 

(D) izekf.kr cht  (D)  Certified seeds 

48. ,dchti=h esa Hk.Mkj.k vax gksrk gS % 
 

48. Storage organ in monocot is : 

(A) Hkzw.k  (A) Embryo 

(B) Hkzw.kiks”k  (B)  Endosperm 

(C) chti=  (C)  Cotyledons 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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49. Mksdst gS % 
 

49. Dockage is : 

(A) vfØ; inkFkZ $ ‘kq) cht  (A) Inert matter + pure seed 

(B) dsoy vfØ; inkFkZ  (B)  Inert matter only 

(C) vfØ; inkFkZ $ vU; cht  (C)  Inert matter + other seeds 

(D) mi;qZDr lHkh  (D)  All of the above 

50. og cht ftudks nckus ij eqyk;e izrhr gksrs 

gSa] xUnk ikuh NksM+rs gSa] dgykrs gSa % 

 
50. Seeds showing softness, losing dirty 

water due to pressure is known as : 

(A) l[r cht  (A) Hard seed 

(B) Ýs’k butehZusVsM lhM  (B)  Fresh ingerminated seeds 

(C) lkekU; cht  (C)  Normal seeds 

(D) e`r cht  (D)  Dead seeds 

51. tc ‘B’ ykbu dk ikS/kk eknk iafDr esa ik;k 

tkrk gS] rc bls dgk tkrk gS % 

 
51. When plant of ‘B’ line is found in female 

row, then it is known as : 

(A) ikWysu ‘ksMj  (A) Pollen shedder 

(B) jksX;w  (B)  Off type 

(C) iqjLFkkid ykbu  (C)  Restorer line 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

52. MhVSlfyax lEcfU/kr gS % 
 

52. Detasseling is related to : 

(A) Tokj ls  (A) Jowar 

(B) eDdk ls  (B)  Maize 

(C) cktjk ls  (C)  Bajra 

(D) vjgj ls  (D)  Pigeonpea 



 

AG–4003 ( 18 )  Set-C 

53. cht ds kl dh nj tSls&tSls c<+rh gS] cht 

esa ueh dh ek=k % 

 
53. The rate of deterioration increases in seed 

as the moisture content : 

(A) ?kVrh gS  (A) Decreases 

(B) c<+rh gS  (B)  Increases 

(C) cht ij ueh dk dksbZ izHkko ugha iM+rk  (C)  No effect of moisture on seed 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

54. fuEufyf[kr esa ls dkSu Hk.Mkj.k ds le; cht 

ds vk;qdky dks izHkkfor djrk gS \ 

 
54. Which of the following affects the seed 

longevity during storage ?  

(A) cht dk izdkj  (A) Kind of seed 

(B) ueh dh ek=k  (B)  Moisture content 

(C) lkisf{kd vknZzrk ,oa rki  (C)  Relative humidity and temperature 

(D) mi;qZDr lHkh  (D)  All of the above 

55. og jlk;u tks laØe.k gksus ls iwoZ mi;ksx 

fd;s tkrs gSa] dgykrs gSa % 

 
55. The chemicals that becomes effective 

when applied prior to the infection : 

(A) j{kd  (A) Protectant 

(B) fpfdRlh;  (B)  Therapeutant 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

56. dsUnzh; cht ijh{k.k iz;ksx’kkyk fLFkr  

gS % 

 
56. Central Seed Testing Laboratory is 

situated at : 

(A) y[kuÅ esa  (A) Lucknow 

(B) psUubZ esa  (B)  Chennai 

(C) ubZ fnYyh esa  (C)  New Delhi 

(D) dksydkrk esa  (D)  Kolkata 
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57. fuEufyf[kr esa ls dkSu&lk cht mRiknu ds 

fy, ifCyd lsDVj laxBu ugha gS \ 

 
57. Which of the following is not a public 

sector organization for seed production ?  

(A) jk”Vªh; cht fuxe  (A) National Seed Corporation 

(B) Hkkjrh; jkT; d`f”k fuxe  (B)  State Farm Corporation of India 

(C) d`f”k fo’ofo|ky;  (C)  Agricultural Universities 

(D) egkjk”Vª gkbfczM lhM dEiuh fyfeVsM  (D)  Maharashtra Hybrid Seeds Co. Ltd. 

58. fdlh Qly dh fdlh iztkfr dk og cht 

ftldk mi;ksx rc djrs gSa tc og iztkfr 

iw.kZ:i ls u”V gks tkrh gS] dgykrk gS % 

 
58. Seed of the variety to safeguard against 

the losses caused by complete crop 

failure is known as : 

(A) iztud cht  (A) Breeder seed 

(B) iathd`r cht  (B)  Registered seed 

(C) dSjh&vksoj cht  (C)  Carry-over seeds 

(D) VªqFkQqyh yscYM lhM  (D)  Truthfully labelled seeds 

59. fuEufyf[kr esa ls dkSu&lk cht lalk/ku dk 

Hkkx ugha gS \ 

 
59. Which of the following is not a part of 

seed processing ? 

(A) cht dh lq[kkbZ  (A) Seed drying 

(B) cht dh lQkbZ ,oa vixzsfMax  (B)  Seed cleaning and upgrading 

(C) cht mipkj  (C)  Seed treating 

(D) cht mRiknu  (D)  Seed production 

60. uhys jax dk VSx fdlds cSx ij yxk gksrk  

gS \ 

 
60. Blue colour tag is used on the bags of : 

(A) iztud cht  (A) Breeder seed 

(B) vk/kkj cht  (B)  Foundation seeds 

(C) izekf.kr cht  (C)  Certified seed 

(D) iathd`r cht  (D)  Registered seed 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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